A—T I BiExR sf25489260

LFa5—n8 64 &30 J—2
#ISAELU BUKR—)I | out 1.246,79 in 1012131416,17
NAME ouT IN GROSS HDCP NET REMARKS

PiE X2 37 | 42 79 84 70.6
BN BB 41 | 43 84 13.2 70.8
¥ {E—8Bb 41 35 76 48| 71.2
=SH Y8 a4 38 82 10.8 | 71.2
Y8 E&E 39 43 82 10.8 71.2
Keh &2 42 45 87 15.6 71.4
FEL 8% 46 44 90 18.0 72.0
S =B 38 38 76 3.6 724
=S8 R 44 48 92 19.2 728
Wi 2B 37 | 42 79 6.0 73.0
@R Z=— 43 | 42 85 12.0  73.0
8]RE E=— 4 41 | 85 120 73.0
NE £ a4 41 | 9 18.0 73.0
=B FI88 39 39 78 4.8 732
IR EEAEE 38 40 78 4.8 73.2
th B— 43 41 | 84 10.8 73.2
I J\¥t 44 40 84 10.8  73.2
] fiE 41 | 43 84 10.8  73.2
°E B— 42 | 48 90 16.8  73.2
s B— 37 | 40 77 3.6 73.4




W =B 48 47 95 21.6 73.4
BE = a 47 88 14.4 73.6
BwxX s 36 39 75 1.2 73.8 BG
by | 42 39 81 7.2 73.8
HE FHF— a2 39 81 7.2 73.8 | RUE
B8 W= 40 39 79 4.8 74.2
B BFS 39 40 79 a8 74.2
=H MBIk 43 42 85 10.8 74.2
=2lE &1 a a9 90 15.6 74.4
B FME 43 40 83 8.4 74.6 RUE
NG [E— 40 42 82 7.2 74.8
e 39 42 81 6.0 75.0
B M= a2 a5 87 12.0 75.0
iz B 49 44 93 18.0 75.0
EE BAR 43 50 93 18.0 75.0 | RUE
g Z 40 40 80 4.8 75.2
BA 1FG 44 48 92 16.8 75.2
IR B 45 53 98 22.8 75.2
B=E iR 45 46 91 15.6 75.4
BE NS a1 43 84 8.4 75.6 | RUE
BFSK g3 43 a7 90 14.4 75.6
EB R 43 a7 90 14.4 75.6
BA f&mh 43 46 89 13.2 75.8
FE BE 51 44 95 19.2 75.8
™ BA 45 43 88 12.0 76.0 RUE
BifR = 48 46 94 18.0 76.0
mMA B 52 48 100 24.0 76.0
A RZ= 48 52 100 24.0 76.0
hE Bkl 40 41 81 4.8 76.2
=% B a7 44 o1 14.4 76.6 | RUE
S 8= a5 a5 90 13.2 76.8
e B3 43 45 88 10.8 77.2
g < 49 51 100 22.8 77.2
SK B2 47 50 97 19.2 77.8
SIE I1EM 45 45 90 12.0 78.0 RUE
NE ZEH 48 46 94 15.6 78.4
% N PAT 46 47 93 14.4 78.6
B B’X 48 55 103 24.0 79.0
NigE R 53 55 108 28.8 79.2
it A 44 43 87 7.2 79.8 | RUE
AB E&E 55 56 111 30.0 81.0
FE B2 47 54 101 18.0 83.0
AN 7B 53 62 115 30.0 85.0
®ik YR 58 56 114 28.8 85.2




Hi2F4 85268
g£I1—2X

IN GROSS HDCP NET REMARKS

@B ES 40 37 | 77 6.0 71.0
wH Ht+= a0 41 81 9.6 71.4
fmE —3 41 | 39 80 84 716
88 1E3A 44 42 86 144 T71.6
INI 8A 4 | 35 76 3.6 724 BG
Hll gE— 41 41 82 9.6 724
=R & 4 42 86 13.2 | 72.8
A5 = 45 41 | 86 132 728
e 88 43 | 47 90 16.8  73.2

AR H= 43 43 86 12.0  74.0
PE FK 47 45 | 92 18.0 74.0

A B 43 42 | 85 10.8 74.2
KE FEZ 48 47 95 | 204 74.6
JIg b 49 51 100 25.2 74.8
=% BXx a1 46 87 12.0 75.0 RUE
BHmE —= 46 49 95 19.2 75.8
WFr B— 44 44 88 12.0 76.0
E&m RME 41 45 86 9.6 76.4
S Fm 49 48 97 20.4 76.6
BH =c a7 48 95 18.0 77.0 |  mUE
I SKGE 47 47 94 16.8 77.2
20O 8sh 47 47 94 16.8 77.2
=aV X N P4 a9 a5 94 16.8 77.2
Bt Feg a4 48 92 14.4 77.6
s &= 46 a4 90 12.0 78.0 RUE
we =8 46 46 92 13.2 78.8
BB &EB 44 45 89 9.6 79.4
5 F 48 51 99 19.2 79.8
e BX 53 52 105 22.8 82.2
KEF EB8 61 57 118 34.8 83.2 RUE
AR 1B NR
H =88 NR
BEH B=R NR
FlF  BRIE NR

5 NR




Z—=T I BiEx SH2E48268
LT 1 —RDER o 2510 -2
1 fi1 WA RRF 40 39 79 72 718 BG
2 fir Bf BAZE a7 a4 | o1 18.0 73.0
3 i1 SN BEF 47 @ 45 92 16.8  75.2
4 fi1 B ST 46 42 88 12.0  76.0
5 i1 B BF a7 47 @ 94 18.0 76.0 U=
6 fiI A EBisE 45 | 49 94 16.8  77.2
7 i1 AN IBF 47 | 50 97 18.0  79.0
8 i1 RER EBXHF 53 54 107 252 81.8
9 fiI IRk EF 54 58 112 30.0  82.0




